14085 PARENT

Point # 1 10000.000 10000.000
S 8 25 28 E 101.010 '
Point # 2 9990.186 10100.532
S 8 4 0 E 100.380
Point # 3 9978.069 10200.178
S 9 20 47 E 125.280
Point # 4 9854.452 10220.524
N 8 4 0 W 200.000
Point# 5 9878.595 10021.986
N 11 25 0 W 17.950
Point # 6 9896.190 10018.433
N 78 35 0 E 2242.000
Radius Point # 7 10339.977 12216.072
Delta=2 41 41 Length = 105.445 Tangent = 52.732
S 81 16 41 W 2242.000
Point # 8 10000.001 9999.999

AREA = 24,121.92 sf (.5538 acres)

LENGTH = 544.62
NORTHING ERROR = +0.001
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EASTING ERROR = -0.001

39 57 53 W 0.001

7/7/2014



14085 LOT A

Point # 1 10000.000 10000.000
S 8 25 28 E 74.670
Point # 2 9992.745 10074.317
S 9 20 47 E 103.790
Point # 3 9890.333 10091.173
N 83 4 0 W 73.900
Point # 4 9899.254 10017.813
N 78 39 47 E 2242.000
Radius Point # 5 10339.983 12216.067
Delta=2 36 53 Length =102.315 Tangent =51.166
S 81 16 40 W 2242.000
Point # 6 9999.996 9999.996

AREA = 7,400.28 sf (.1699 acres)

LENGTH =252.36

NORTHING ERROR =-0.004 EASTING ERROR = -0.004
LINEAR ERROR = S 49 48 6 W 0.006

8/20/2014



14085 LOT B

Point # 1 10000.000 10000.000
S 84 25 28 26.340

Point # 2 9997.441 10026.215
S 83 4 0 100.380

Point # 3 9985.324 10125.861
S 9 20 47 49.800

Point # 4 9936.185 10133.949
S 70 30 20 58.490

Point # 5 9916.666 10078.812
N 83 4 0 66.910

Point # 6 9924.743 10012.391
N 9 20 47 76.270

Point # 7 10000.000 10000.005

AREA = 8,579.99 sf (.1970 acres)
LENGTH = 378.19

NORTHING ERROR = +0.000
LINEAR ERROR = N 88 33

EASTING ERROR = +0.005

9 E 0.005

8/20/2014



14085 LOT C

Point # 1 10000.000 10000.000
S 8 4 0 E 73.900
Point # 2 9991.079 10073.360
N 9 20 47 W 27.520
Point # 3 10018.234 10068.890
S 8 4 0 E 66.910
Point # 4 10010.157 10135.311
N 70 30 20 E 58.490
Point # 5 10029.676 10190.448
S 9 20 47 E 75.480
Point # 6 9955.198 10202.706
N 8 4 0 w 200.000
Point # 7 9979.341 10004.169
N 11 25 0 W 17.950
Point # 8 9996.936 10000.616
N 78 35 0 E 2242.000
Radius Point # 9 10440.723 12198.255
Delta=0 4 47 Length = 3.120 Tangent = 1.560
S 78 39 47 W 2242.000
Point # 10 9999.994 10000.000

AREA = 8,141.61 sf (.1869 acres)
LENGTH = 520.25

NORTHING ERROR =-0.006
LINEAR ERROR = S 2

EASTING ERROR =+0.000

13 44 E 0.006

8/20/2014



